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Page 98, equation (3.113)

From equation (3.107) follows:

Q = ρu̇+ divq− tr(TD)

and equation (3.109) can be then modified:

−Tσ = −Tρṡ− T div(q/T ) + ρu̇+ divq− tr(TD)

From the definition (3.111) it follows that ḟ = u̇− T ṡ− sṪ ; thus

−Tρṡ+ ρu̇ = ρḟ + ρsṪ (1)

Further:
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where the definition (3.112) was used in the last identity.
Taking into account (1) to (3) we obtain:

−Tσ = ρḟ + ρsṪ − T

(
1

T
divq− 1

T 2
q.g

)
+ divq− tr (TD)

= ρḟ + ρsṪ + T−1q.g − tr (TD)

which is as in (3.113).
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